10/29~31 2i3H

| JeFFEST I 8P TP =

(BEERAA—TTY)
RITRE CRFMBRYS 5> FFRTLaB1EHRA - U T4 YHLIRT T 2 0281FFH)

BB ORT L
B—ABRITRS 3% A +2,500| amiE ANAKU T4 UALRT T X 028 H2E
2% 8RF " 2500 3B FLIRER &REIR T L
96,000 12 A T0.000| FEE AWRUFOARTT 0
158 av 7 F— FERTIVALIR

10/29 fwEEZ#%E = FIHZERZHR = FHTEREE = ZFHEFHE (V95 12-H70E)
8:00LHEA SKY (E#)  SKY  13:.008%
e - (;a] REFHRRFTNLITFF b—F
HYBEHBFLT, 2L e SERBETNAEBELACESL

10/30 FTFN = FHHRLUELE = FHLISELLLE = MEEKX BE: +—t> bAFALMETERR)
8:30 (a=77z4)
(Al LRHAEFT I = [#R] E->F (BERIE) -0-2L% (ryFRHhY)
HYBERE->FHVD LBHRUCFEEL

10/31 #7n = LBERFSAFaviER = XKBELREE -FVEvI7Ia2-YT7A4

8:00 (ER) (V7 MR T v v i—8%)
MTRZEE (BEEEE-BWY) = THZEEEREHR = #RZEE
14:00LE% SKY €3 0)) SKY 19:00tE%

RVETAR 0%

FIANZ&  OK GOGo BuUs [RFZ7 7R

BOA 5 Y] A CHEHD14BFEIEFT (ELEEAB80RICH Y REHH)
B EXH 6 B2E-%&2H

wEBRIT Hl)



